SiLencWwi

-
no |

fe turbine

rd

Spare Parts List - Silentwind PRO

ID Part Nr. Description Remarks Price [€]
1 77 Nose Cone
238 Nut M16 SS
Kit for rotor blade fixation - 6X
00018 M16 Screw Kit for Rotor Blades M16x22 SS screws, 6x Plastic washers, 6x
3 Self locking SS Nuts
. Kit for rotor blade fixation - 6x
M6 Screw Kit for Rotor Blades - Custom screws - .
. M6x22 SS screws, 6x Plastic washers, 6x
Fast blade setting .
Self locking SS Nuts
A 1 Rotor Blades Kit with 3 Rotor Blades - Blades are not Check yoEJr
sold separately regular price
5 74 Hub
6 Snap Ring Not sold separately
7 Distance gasket 4mm Not sold separately
3 237 Ball bearing 6203 2RZ (x2) Default ball bearings
235 Stainless Steel Ball bearings 6203 2RS (x 2) On special requests only
9 Screw M5 x 50, stainless (x3) 3 units
10 2 Front Cover Front face
11 07348 O-ring Silicone O-Ring
239 Generator Stator 12V 12V v2018
12 240 Generator Stator 24V 24V v2015
241 Generator Stator 48V 48V v2015
1x ID. 6, 1xID. 7, 2x ID. 8 (Standard
70 Rotor Bearing Kit bearings. Stainless steel bearings on special
requests)
. . . 1x ID. 6, 1xID. 7, 2x ID. 8. On special
- Stainless Steel Rotor Bearing Kit
requests only
204 Wind generator Head 12V v2018
- 1x1D.10, 1x ID.11, 1xID.12, 1x Rotor
205 Wind generator Head 24V v2015 . .
Bearing Kit
206 Wind generator Head 48V v2015

SpareParts List 2021
SW PRO - Wind Generator

28/04/2021
lof3



' 4
SILENGWIND {

e

Spare Parts List - Silentwind PRO

2021

ID Part Nr. Description Remarks Price [€]
13 87 Washer 7mm
14 75 Rotor - Standard
- Rotor with Metal tape Standard after 2020
15 19 Brushes - Set of 3 Copper Brushes
16 45 PCB
;
i (20
g[p *]
y;
7 I _f___’i@
e ~
17 [ \
I |
| — |
|
| g Pd] —— |
| |
[ SiLeNGWIND o I = :
I |
i (29 |
| | — |
i B ‘ | C
| -
—— [ |
= o AN | !
ID Part Nr. Description Remarks Price [€]
17 17 Generator Body Included 2x ID.18 and 1x ID.19
. . Only as a kit- Default Ball bearings -  1x
33 Ball Bearing Kit - 6007 2RZ C2 (2x) .
18 ID.19 included
Stainless Steel Ball Bearing Kit - 6007 2RS
236 ainiess ee. all bearing 1l Only on special requests - 1x ID.19 included
Stainless Steel (2x)
19 N/a Snap Ring Not sold separately
20 231 Slip Ring Only as a kit - 1x I1D.21 included
21 N/a Yaw Shaft Snap Ring Not sold separately
22 Yaw Body
23 234 Yaw Clamp
24 00023 Screw M6x35 SS Not sold separately
25 Nut M6 Self Locking SS Not sold separately
26 232 Damping Rubber Pad
27 733 vaw Shaft Kit 1x1D.22, 1x I1D.23, :JXZIZM' 4x1D.25, 1x

SpareParts List 2021
SW PRO - Wind Generator

28/04/2021
20f3



SILENGWIND 1

<

Spare Parts List - Silentwind PRO

details

2021
ID Part Nr. Description Remarks Price [€]
Compatible with all Silentwind 12V
; - . Check your
214 Hybrid Boost MPPT Charge Controller 12V generators. See Compatibility Matrix for .
. regular price
details
Compatible with all Silentwind 24V
; . . Check your
34 215 Hybrid Boost MPPT Charge Controller 24V generators. See Compatibility Matrix for .
. regular price
details
Compatible with all Silentwind 48V
; - . Check your
216 Hybrid Boost MPPT Charge Controller 148V generators. See Compatibility Matrix for

regular price

- For further info, please read the Warranty Terms.

SpareParts List 2021
SW PRO - Wind Generator

- Spare parts have a limited warranty of 90 days for the end-users and 1 year for Silentwind distributors.
- For end-users and distributors, full Assembled Charge Controlers have 2 years warranty for new units and 90 days
for reburbished units.

28/04/2021
30f3



